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Forces – Q4 [Practice/E](2/6/21)  
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Show that the moment of T about C is the same: 

(i) if T is multiplied by CD 

(ii) T is resolved into horizontal & vertical components at A 

(iii) T is resolved into horizontal & vertical components at B 
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Show that the moment of T about C is the same: 

(i) if T is multiplied by CD 

(ii) T is resolved into horizontal & vertical components at A 

(iii) T is resolved into horizontal & vertical components at B 

 

 

 

 

 

 

Solution 

(i)   

 

moment = 𝑇 × 𝐶𝐷 = 𝑇𝑎𝑠𝑖𝑛𝜃 

 

(ii) 

 

moment = (𝑇𝑐𝑜𝑠𝜃)(0) + (𝑇𝑠𝑖𝑛𝜃)𝑎 = 𝑇𝑎𝑠𝑖𝑛𝜃 
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(iii)  

 

Referring to the original diagram,  𝐶𝐵 = 𝑎𝑡𝑎𝑛𝜃, so that 

moment = (𝑇𝑐𝑜𝑠𝜃)(𝑎𝑡𝑎𝑛𝜃) + (𝑇𝑠𝑖𝑛𝜃)(0) = 𝑇𝑎𝑠𝑖𝑛𝜃 

 


